
#637174IMAGE QTY PART # DESCRIPTION 

1 525116 Single Side Servo Horn (Hitec) 

1 525118 Double Side Servo Horn (Hitec) 

2 525124 Lightweight Servo Hub (Hitec) 

2 525130 Servo Hub (Hitec) 

2 525134 .250" Bore Set Screw Servo Shaft Coupler (24T Broach) 

2 535110 .250" Ball Bearing Hub Mount 

2 535130 .250" Ball Bearing Dual Pillow Block 

2 535150 .250" Ball Bearing Pillow Block 



8 535198 1/4" x 1/2" Flanged Ball Bearing (2 Pack) 

2 545360 90 Degree Quad Hub Mount 

2 545372 .770" x .125" Thick Spacer 

2 545376 .770" x .250" Thick Spacer 

2 545380 .770" x .375" Thick Spacer 

2 545384 .770" x .500" Thick Spacer 

2 545385 .770" x .750" Thick Spacer 

2 545386 .770" x .1.00" Thick Spacer 

2 545400 .770" Pattern, 90 Degree Dual Hub 



 

 

 

 

 

2 

 

 

 

545404 

 

 

 

.770" Pattern, .75"x.770" Hub Mount 

 

 

 

 

 

2 

 

 

 

545408 

 

 

 

.770" Pattern, .75"x1.50" Hub Mount 

 

 

 

 

 

2 

 

 

 

545416 

 

 

 

.770" Pattern, 45 Degree Dual Hub 

 

 

 

 

 

2 

 

 

 

545424 

 

 

 

.770" x 1.32" ServoBlock Hub Mount 

 

 

 

 

 

2 

 

 

 

545440 

 

 

 

Hub Adaptor A 

 

 

 

 

 

1 

 

 

 

545444 

 

 

 

.770" Ball Bearing Hub (.250" Ball Bearing) 

 

 

 

 

 

1 

 

 

 

545452 

 

 

 

90 Degree Quad Hub Mount E 

 

 

 

 

 

1 

 

 

 

545492 

 

 

 

.770" Pattern Spacer w/.140" Center Hole 

 

 

 

 

 

4 

 

 

 

545532 

 

 

 

Channel Connector Plate A (Stainless Steel) Pair 



6 545548 1/4" Bore Set Screw Hub 

1 555116 Clamping Motor Mount (37mm Diameter) 

1 555128 Motor and Gearmotor Mount B (Perpendicular) 

1 555188 Aluminum Motor Mount E 

2 575112 Standard Servo Plate A 

1 575116 1/4 Scale Servo Plate A 

2 575124 Standard Servo Plate B 

1 575144 Standard Servo Plate C 

1 575148 Standard Servo Plate D 



2 585376 0.375" U-Beam (9.5mm)

2 585380 1.54" U-Beam (39.1mm) 

2 585384 3.08" U-Beam (78.2mm) 

2 585388 4.62" U-Beam (117.3mm) 

2 585399 12.32" U-Beam (312.9mm) 

1 585403 Beam attachment blocks (4pk) 

1 585404 1.54" Flat Beams (2) 

1 585408 3.08" Flat Beams (2) 

1 585412 4.62" Flat Beams (2) 



2 585422 Flat Dual Channel Bracket 

1 585423 12.32" Beams (2) 

2 585424 90 Degree Single Angle Channel Bracket 

1 585426 45 Degree Dual Angle Channel Bracket 

4 585430 Large Square Screw Plate 1.5" x 1.5" (Stainless Steel) 

3 585433 6-32 Heavy Duty Linkage (4 pack)

2 585436 45 Degree Single Angle Channel Bracket 

4 585440 1.50" Channel 

2 585442 3.00" Channel 



2 585443 3.75" Channel 

2 585444 4.50" Channel 

2 585446 6.00" Channel 

2 585450 9.00" Channel 

2 585454 12.00" Channel 

2 585458 15.00" Channel 

2 585462 18.00" Channel 

2 585468 Flat Single Channel Bracket 

2 585470 90 Degree Dual Side Mounts A (Pair) 



2 585472 Dual Screw Plate (Stainless Steel) Pair 

1 585474 Single Screw Plate (Stainless Steel) 

2 585476 Small Round Steel Screw Plate .770 x .770 

2 585478 Small Square Screw Plate .770 x .770 

1 585482 45° Channel Bracket 

1 585484 90° Channel Bracket 

2 585504 90 Degree Dual Side Mount C 

1 585506 Right Angle Channel 1/2 Bracket 

1 585508 90° Dual Side Mount B (Pair) 



2 585532 90 Degree Angle Bracket A 

2 585542 1/4" Bore Parallel Tube Clamp 

2 585580 Flat Triple Channel Bracket 

2 585582 Flat Bracket A 

2 585584 Flat Bracket B 

2 585586 Flat Bracket C 

2 585588 Flat Bracket D 

2 585592 Flat Bracket F 

1 585596 90 Degree Dual Side Mounts E (Pair) 



1 585598 90 Degree Dual Side Mounts D (Pair) 

2 585600 Attachment Block B (4) 

2 585628 90° Flat Channel Bracket A 

2 585644 Swivel Hinge A 

1 615194 64T, 32 Pitch, .50" Bore Spur Gear 

1 615198 72T, 32 Pitch, .50" Bore Spur Gear 

1 615202 76T, 32 Pitch, .50" Bore Spur Gear 

1 615206 80T, 32 Pitch, .50" Bore Spur Gear 

1 615242 16T, 32 Pitch, .250" Bore Pinion Gear 



1 615246 20T, 32 Pitch, .250" Bore Pinion Gear 

1 615250 24T, 32 Pitch, .250" Bore Pinion Gear 

1 615254 32T, 32 Pitch, .250" Bore Pinion Gear 

1 615258 16T, 32 Pitch, 6mm Bore Pinion Gear 

1 615262 20T, 32 Pitch, 6mm Bore Pinion Gear 

1 615266 24T, 32 Pitch, 6mm Bore Pinion Gear 

1 615270 32T, 32 Pitch, 6mm Bore Pinion Gear 

1 615278 16T, 32 Pitch, Hitec Pinion Gear 

1 615282 20T, 32 Pitch, Hitec Pinion Gear 



 

 

 

 

 

1 

 

 

 

615286 

 

 

 

24T, 32 Pitch, Hitec Pinion Gear 

 

 

 

 

 

1 

 

 

 

615290 

 

 

 

32T, 32 Pitch, Hitec Pinion Gear 

 

 

 

 

 

2 

 

 

 

615398 

 

 

 

24T, .250" Bore, 32 Pitch Bevel Gear 

 

 

 

 

1 

 

 

 

615442 

 

 

 

16T, 1/4" Bore, 32 Pitch Bevel Gear 

 

 

 

 

 

 

1 

 

 

 

615444 

 

 

 

32T, 1/4" Bore, 32 Pitch Bevel Gear 

 

 

 

 

 

2 

 

 

 

625104 

 

 

 

.250" Bore to .250" Bore Set Screw Coupler 

 

 

 

 

 

2 

 

 

 

625106 

 

 

 

.250" Bore to 6mm Bore Set Screw Coupler 

 

 

 

 

 

2 

 

 

 

632106 

 

 

 

.250"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

2 

 

 

 

632108 

 

 

 

.3125"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 



 

 

 

 

 

2 

 

 

 

632110 

 

 

 

.375"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632112 

 

 

 

.4375"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632114 

 

 

 

.500"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632116 

 

 

 

.5625"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632118 

 

 

 

.625"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632120 

 

 

 

.750"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632122 

 

 

 

.875"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632124 

 

 

 

1.00"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632126 

 

 

 

1.125"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 



 

 

 

 

 

1 

 

 

 

632128 

 

 

 

1.250"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632130 

 

 

 

1.375"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

1 

 

 

 

632132 

 

 

 

1.500"L x 6-32 Zinc-Plated Alloy Steel Socket Head Cap 
Screw 

 

 

 

 

 

2 

 

 

 

632142 

 

 

 

6-32 Locknuts (25) 

 

 

 

 

 

2 

 

 

 

632144 

 

 

 

#6 Washers (25) 

 

 

 

 

 

1 

 

 

 

633104 

 

 

 

.250" Bore x .0625" Thick Black Delrin Spacer (12pk) 

 

 

 

 

 

1 

 

 

 

633118 

 

 

 

.140" Center Hole Adaptors (4pk) 

 

 

 

 

 

 

1 

 

 

 

633122 

 

 

 

.500"L x .2497"D, 6-32 Tapped Aluminum Standoff (4 
pack) 

 

 

 

 

 

 

1 

 

 

 

633126 

 

 

 

.750"L x .2497"D, 6-32 Tapped Aluminum Standoff (4 
pack) 



1 633130 1.00"L x .2497"D, 6-32 Tapped Aluminum Standoff (4 
pack) 

2 633136 1.32"L x .2497"D, 6-32 Tapped Aluminum Standoff (4 
pack) 

2 634064 1.50"L x .250"D Stainless Steel D-Shafting 

2 634068 2.00"L x .250"D Stainless Steel D-Shafting 

2 634074 2.50"L x .250"D Stainless Steel D-Shafting 

2 634078 3.00"L x .250"D Stainless Steel D-Shafting 

2 634080 4.00"L x .250"D Stainless Steel D-Shafting 

2 634084 6.00"L x .250"D Stainless Steel D-Shafting 

2 634088 8.00"L x .250"D Stainless Steel D-Shafting 



2 634092 10.00"L x .250"D Stainless Steel D-Shafting 

2 634094 12.00"L x .250"D Stainless Steel D-Shafting 

1 637110 Hitec Standard (Hub Shaft) ServoBlock Kit 

1 637118 Hitec 1/4 Scale (Hub Shaft) ServoBlock Kit 

4 33485S HS-485HB Servo 

2 SE2412S 12" extension 

2 SE2418S 18" extension 

1 SY2406S 6" y-harness 

1 SY2412S 12" y-harness 

4 625302 0.250" Bore Steel Set-Screw Collar 


